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JAll questmns are Compulsory. Calculation sheets are to be 'aﬂach‘ed with this paper.
‘Group - A (16x2=32 Marks)

Underline the currect answer Half markwill be deducted for each wrong marking.

1) If the English Alphabets are written in arow; then the 9" letter to left of the 9 letter from the right is
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A) J Bk O H D) I
2) Aline APB meets the x-ams at A and y-a)us at B Pis the point (-4, 2) and AP: PB =1 : 2. Then the co-ordinates
of A and B respectively are ! :
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4) Which of the following is possible ?
faosa et AwI— :
A)'Cose=% © B)Sing= 3  Oseo- 4 Dyumg=4

5) In the given ﬁgure TAS is atangent tothe cucle mth centre ‘O’ at lhe pointA.
If OLA=32, the values of x and 'y arerespectwely _
owa o0, TAS =1 ‘0’ mmaﬁmw qasmwmmﬁ L_m =320 7,
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6) The ratio at which rice at 1720 perkgmustbcnnxed\wﬂmceat ¥5.70 perkgsotlwlthenuxtumbeworth of ¥ 6 30

per kg is
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A) 1:3 B) 273 - C)y3:4 D) 4:5
7) Ariver 1.5 mdeep and 36m wideis ﬂowmgatlhe rate of 3.5 km per hour, The amount of water that runs into the sea

" perminute (in cubic metres) is
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8) Apoint D isonthe side BC of an equilateral 1r1anglc ABC such that DC= — BC. Then AD? =

, ABC e fgrer BC A o[ D G3f g QA DC = 7 LiBC; mmz—

A) 13 CD? B) 9AB? C) 6 cD? D) 12 BC?



-9 The sum of an A.P whose ﬁrst term, the second term and the Jast term are respectively a, band c 1s
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10) The medlan of the given observations is
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11) Anequilateral triangle is inscribed in a circle of circumference equal to perimeter of a square with side 22.cm.
~ the side of the triangle is
WWMWW@W@W|WW22 mﬁﬁﬁ%aﬁa@mﬁﬁﬁmﬂmm
@gﬁ%ﬁwtﬁ%ﬁm— ; ;
A) 7¥3em . B) 4em C) 14V3em D) 7em

_12) Whichofthe faﬂowmg ‘have non- termmatmg na'cumng demmal ‘?
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13) Instead of walking along two adjacent sides of a rectangular field, a boy took a short cut along the diagonal of

the field and saved a distance equal to % of the longer side. Then the ratio ofthe shorter side of the rectangle
to the longer side is
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. 14) Ifx= (secA — tanA) (SecB —tan B) (Sec C -tan Q)

=(SecA +tanA) (Sec B +tant B)(SecC+ tan C), thcn the valde of xis
it x = (secA —tanA) (Sec B—tan B) (Sec C~tanC) :
= (SecA + tanA) (SecB+ta11B) (Sec C+tan C) T, R X QI
A) 0 B) 1 o " B4l

15) Two fair dice are thrown together. The probability of getting the saine number on both dice is

@@Wwwwmw1@wﬁa@ﬂ\ﬂmwww—
A) B)3 S vy D

16) A Chemlst lias one solufion containing 50% acid anda second one containing 25% The amount of' each acid
" that should be uged to make 10itres ofa 40% acid solutionare respectwely
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'A) 8litresand 2 litres e ' B) 411tresand611tres ' :

C) 3 litres and 7 litres s e D) 6 lzu‘es "md Afifes™

: : Group - B (8)(2'*16 Marks' :
Whrite the answer only at the proper place indicated. ;
17) Find the value of (sin* p—cos* g +1) cosec’ () on simphilication.
(sin' - cos* §+1) cosec? § AT A 7 3| '
Ans.
18) If(z, -2),=2,1) and (5, 2) are vertices of aright angled triang te, then find the area of the triangle.
W (2, - 2), (-2, 1) 9K (5, 2) aﬁwﬁﬁwﬁﬂﬁ?ﬁﬁzﬂ mﬁn\zﬁﬁﬁ CFATe (33 99 |

An_s.




19) Two circles of unequal radius touch each other at P, The two common tangents to the circles, none of wh.lch pass.
through P, meet at E. They touch the larger circle at C and D. The larger circle has ra.dlus 3 umts and CE has length 4

units. Then find the radius of the smaller circle.
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Ans.

~20) Iftwo zeros of the polynomial x¢ — 6x> —26x? + 138x - 35 are 2—+/3 and 2 + v/3, then what are the other
zeros of the polynomial ? _
i x* - 6x° — 26x3 + 138x - 35 L AR GBAG2 - V3 @ 2 + V3 7, S AfrEda o Ferel H e

Ans.

21) The number tuplets (a,b,c)of i mtegers such that ag b < ¢anda, .b,c are s1des ofa tna.ngle with perimeter 21
units. Find the numbers.

| 4 AT A (a, b, c)éﬂmcaa<b<c uma,b cmzlmvﬁﬁmwmﬁqmﬁﬂﬁwm@

mﬂmﬁr R =1
Ans.

22) A set of numbers consists of four 5’s, six 7’s, ten .9‘5, eleven 12’s three 13’s and two 14’s. Find the
approximate difference between mean and median of this set of numbers,

b1 5, wal® 7, vl 9, @sirca® 12, fai 13 @3k 536 14 fFww e 21 sreR @i 4w ¢ sawr sz
A el |

Ans.

23) Twenty women can do a work in sixteen days and sixteen men can complete the same. work in fifteen days What
is the ratio between the capacity of a man and an woman?

20 & RCARF (FRS Fier 16 TG 7007 F0S AT 92K 1676 wth uﬂ@WlsﬁGWﬁMIWM'
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24) Theheight of a conical tent is 14 m and its floor areais 346 5 mé How much canvas 1.1 m mde will be reqmread '

forit ?
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Ans.

Group - C (3x4=12 Marks)
Important steps of calculation, statements and of proof whenever necessary are to be given.
25) Find the number of maps f from the set {1, 2, 3} into the set {1,2,3,4, 5}. How many of them are such that

£@) < () Wheneveri<j ¢
- T 4L, 2, 3} cwcﬂ%{l 2,34 S}MMﬁiﬁmm?m'ﬂmmmWﬂl)sm),W:qm
W2 : : A 1+3=4
Ans.




26). Amangle ABC is drawn to cucumscrlbe acircle of centre O and radius 4 cm such that the segments BD and
' DC into which BC is divided by the pomt of contact D are oflengths 6 cm and 8 cm respectively. Fmdthc lengths of

- the sides and area of the tnanglc

| ABC fagw, Omm4mﬁwmmﬁﬁ%%mcmﬁwnﬁﬂ{w“ﬁmﬂmm 6 G
% DC = smﬁlﬁwﬁawhﬂimmﬁcﬁW| 3+1°
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g : __27) The fg]lowmg table gwes the marks obtamed bySOstudents m aclass test‘ Calculate the medlan for the given -

; ﬁmm@ﬁaﬁmmﬁt%somﬂmdy@mﬁmm|mmawﬁﬁw : 4
CUMaks o p o AEISC 16-20 - 2135 26-30: 3135 - 3640 4145 - 46-50 :
" Numbersofstudents : 2 e e 12 e

kA _ e : 5




